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INSTRUCTIONS TO CANDIDATES

gdmnfefal @ fag fdw

Read the following instructions carcfully before you open the
-| question booklet.

Eﬁiﬁlu‘mﬁ%g&ﬁqﬁmﬂm
|

1. Use blue/black ball point pen only. There is no negative
marking.

1. Bad Aa/ @ die aige &9 © wan ot
e darl @ foe fta w58 &

2. This test booklet contains 200 questions of one mark
each. All the questions are compulsory.

2. ¥4 W g § 200 WY (2R m &) W ge
@ 9w & sifrard 8

3. Partl:- MAT : | - 50 questions

Part Il ;- Language : 51 - 100 questions
Part [11 :- SAT : 101 - 200 questions

3 WP 1 - AfE® THW 1 — 50 A
W 2 - W IS ;51 — 100 WE
wWIT 3 fieg e 101 — 200 WA

4. Amswer each question by darkening the one correct
alternative among the four choices on the OMR SHEET
with blue/black ball point pen.

4. un Rwa 4 A daa B fww B AR
/&ra diE aEe i ) Teg A e oY)

Example:
Q. No. Alternatives
comay:| 1 | D @ @ @
Q. No. Alternatives
Wrong way: 1 ® @ @ @

Student must darkening the right oval only afier ensuring
correct answer on OMR sheet.

NETEM

Q. No. REw
Q. No. fraeg

e adet | 1 @ @ G}

wf I ghftaa o @ g & w6 Ree @

A F IR 9F W raifEa B

®
€]

5. Disparity in mentioning (SC, ST & PH) in application
form and OMR sheet can make your candidature invalid.

5. Mg R oul A U7 AR TF H A (SC, ST &
PH) 1 ST AT T B TEEE B A IR
wom R

6. Students arc not allowed to scratch/ alter/ change out an
answer once morked on OMR Sheet, by using white
fluid/ eraser/ blade/ tearing/ wearing or in any other
form.

6. TOMTl T@ AR @ MR FRYY IR A (B
A R TH/ W/ MR T awy/ W
o/ gea oot A oftaRia o =R v

7. Scparate shoet has been provided fof rough work in this
test booklet

7. :ﬂaﬁﬁhmg&mﬁmﬁ;ﬁmqﬁ@
I

8. *Please handover the OMR sheet to the invigilator
before leaving the Examination Hall.
*Take all your question booklets with you.

g * AN Y AN T Ui W B W O3
T 2 3 gvara € W
*F O T I @ W

9, Darken completely the ovals of your answers on OMR
Sheet in the time limit allotted for that particular paper.

9, WY U T I it o o A 8
3T U9 3R TF G ST @y |

10. Your OMR sheet will be evaluated through electronic
scanning process. Incomplete and incorrect entrics may

render your OMR sheet invalid.

10. FUPT 3N A AR UF FATG WA WA g

siren S | e o gyl srgfel s #
UH R O B i T 6 2

11. Use of electronic gadgets, calculator, mobile etc. is
strictly prohibited.

1. Zaeie WaAl, AT, AWNA §ens 1 wan
gofa: frifim @)
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MENTAL ABILITY TEST (MAT)

difg® arvgar g

(QUESTHON NO. 01 - 50)
(Ue9 &1 01 — 50)

rrﬁd‘".ﬁ‘

Ir--J"

1. The value of 7 y/@qﬁﬁﬁm
f?%ﬁ ARG

1+ﬁ e m-ﬁ -ﬁf

1

ﬁ+f "Je+v7 ﬁwr «.f'_*m.fr

s, 2 Ao = &
. [ 1. 4 2. 2
m:ﬂ 3 I BN 3.0 4 1
: e
2. If Stan6=3then 5‘5‘“{‘??:““*‘:: af Stang=3 JEnI-3c0s8
=Y Ssin +3cos 25 55:115'15-3::-::5
| 1.0 2.2 1.0 "8 =
3 3
3.2 i g 4 X
3 5 5
3. A regular polygon is drawn with 35 diagonals. T 35 fﬁﬁﬂ'ﬂ' qrelr ?ﬁﬂT G B
Its interior angle will be THH T ATaed FI FH AT B
1. 154° . 164° 1 1540 2 1640
. 144° - N . : .
; e Bt 3. 144° 4, 57 2 BE A
4. If x means -, + means +, - means x and = gfe W ey =+ @At - — &y
m&ans+then15 2+08002980x100="7
it i & iE—U T:fr; :iﬂir:i-;ﬂﬁl:ﬁ 7 i
3- a0 | A0 ) :
511-‘1"“,_"5,'?' 1. 180 2. 180
e e 3. 90 4. -60
5. I one root of quadratic equation feuma T Ca L] (K+1)x% - Bx + 2k=0 &

(K+1)x* - 5x + 2k = 0 js recipeocal of other

afe
el U gOR D FobH 7 d K @ qH
Euid

i then value of K is Wi -5+1lks
dxL ! 42 2. 0 3k
K | 3 -1 471 12 z20
m;é_i__-f..? = 3. '1 4- ‘I ; :
.,:-* ' f What will be the ratio of volume of cube is to T U4 & AT & IH9E ad el 5]
e P T - f sphere i he:l c h-a
{:"L Jx 5 :rc: Lglrpe“n phere inscn th& u AT | ST E’T"IT
‘LE- e B L—‘{lg 1. 3: =n 2. 6:n
':E.rf' St 4. 2:n 3. 6:5 4. 2%
7. W af are the rools of the eguation afe o, p GO FHIDROT 20 —Sr+16-0 &
' 2 —Sx+16= {.‘r’d'len thevalue of .~k ! 1
| [\ ] +("32]J P A
-3 T {2 3 . L
PRGN -z
g o
fd 5
4 T
3 .1
3 12
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8 Divisor is 10 times of quolient and 10timesof | 8 H[W& 9THS & 10 A1 3R TGFHA 6
reminder. if guotent is 10 then what is 10 T 2 afe 9FTEE 10 B ar Wy
divided. ' '

1010 2. 1100 ~ &
3. 1001 4 101 1. 1010 2. 1100
e S 3001, - 0 c4 401 -
i ‘9, 0111 +(0222F — (0.333 +(0.333 (0.222)]
k] 3 3 |
ol o227 ~(0.3337 + (0333 0.222)f i il
[ | Will be
b | 1, 222 2. 0
1. 222 20 3. 333 4. 2
3. 333 4. 2 = 180

10. If nis a natural number the 9°" - 4™ s always | 10. 42 n U H'Iﬂim'tﬁ T B, " 97 4™
divisible by S 9=y 8-k wEn fiea B
1. 13 “both 5and 13 43 _ -
15 4.None of the above L 2.5 T 13 G W

3 5 4. TH 9§ @13 7al

11, If sum of LCM and HCF of two number is 50
and their LCM is 20 more than their HCF,
then the product of two numbers will be

11

afe &7 IR T YA THEMEE 9 [MFelrt
HETH WHYNA® D WIS 50 Bl 9 ogaA '
HHIGEE D, HEAH GHUAAD W 20 TUTET ety onsg,

women, L—caf the same are married and El of

the married women have children. If % of

~525 2. 425  HedHd
3. 625 4. 325 &1 o1 1 HEe H U 20 = 3
1. 525 2, 425 .
1L, oo a 3. 625 4. 325 12"
12. A 3621:? TEEE l;ﬁin moving at an average | 12. , 320 Hex ol YemEl, 120 ey ;ﬁ
speed o m/h crosses a platiorm in 24 . mﬁ
seconds. A man crossed the same plateform '; Ll f ﬁmﬁﬁ qﬂ; E‘Jﬁﬂﬁa‘?{ @_L-f
in 4 minutes. The speed of the man in misec ’ i : - Ror
is: Wﬁ¢ﬁ?€ﬁﬂﬁﬂﬁﬁw-ﬂﬁ
1, 2.0 jﬁ-d £ | @fea @1 T Hiew / HEHve B | 33
3.16 1.5 1. 2.0 2. 24 %E-:HE
3. 16 4.15 Ml s
irel Iy | it | sl =
id e} +b i Wy
13. I ——5— is the AM (arthmetic mean) | 13 a2 T b & 4| WA .ai‘f
n (33
between a and b, then, find the value of n HED (AM) B TH n BT A BT — iy
1.1 .3,3 1.1 - - 79409
3. E ¥ ﬂ 3 2 4 [] %&."
14, In a certian office, énf the workers are | 14. U@ Hrtam ¥ éﬂﬁFﬂ Horex & forem i w'"”
foe

¥ L AReny wdger ok leed gw| s
2 3 %&_
Hl%maﬁa%qmaﬁ"xﬁtuﬁ:i_gw .3

S
: a +b
the men are married and % of the married FeEET 8 3l 2 IMEIIET I58 & U9 | orb -

A 3 X
men have children, then what part of worker g & o fem W & U HmE AT (ati) Bb
are without children? ' 1 ot b Tak

. N Tl el 8 | 5
81 /‘1/3 2. /9/ ; E/ 5 V g
3 UAs 4 174 J:‘f,
25
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2 T TRV SR
s B A TR
L

15, If in a business, Alok gains 75% more profit | 15. a1 U &aE” H MWD ] A0 il
than Akash, then by what percentage profit of 75% wATET 0T BN 2 G e &
j%sh is less than the profit of Alok = |a G Eeit o S BN
~35% 2. 12.63% T
3. 30.8% 4. 42.85% 1. 25% 2. 12.63%
) 3. 30.8% 4. 42.85%
16. The height of three towers are in the ratio of | 16. o9 @Ml @ Sdls @ JFqae 567 #
NS - 5:6:7.If a spider takes 15 minutes to climb Ife uF AHS HaY Be @™ W 9% 1
N the smallest tower, how much time it will take @ : y & '
"“1’:5 te-  ip climb the highest one T ot & $a T W
T 1. 15 minutes 2. 18 minutes 1 H e W w i
“of __ 321 minutes 4. 54 minutes 1. 15 fime 2. 18 e
L
. 3. 21 A= 4, 54 e
(w,-2) |17, The two vertices of a Triangle are (4, -2) and | 17. U@ 3/ @ o Y (4, —2) 9 (2, —6) Bl
{ﬂ.f..rf}. :tf cer;ttelgnd rlaf a_itln:ngla is (0,1) then fz ﬁl‘ﬂﬁi & BeF & e {D.1]| =)
o b s a et w7 e i @ s &
i 1. (-8B, 11) 2. (11,-6)
3. (6,-11) 4. (6, 11)
18. If sina,cosa,tana are in GP, GP means | 18, TfE sin @, cos &, tan & ’_!Ui-i.ﬁ. T A0 H OB
.J P cos’ @ =sina.tana then m!"a-cntzﬂ;i-‘—— s 3efd cod @ =sina.tana A cot’ @ -cof @ =
PRTECE R e2.0 (Lb)-29 4 2.0
a3 4 4. 2 3 4 4, 2
Sin® =
vl - =
si2. =19, Eight members of a group shake hand wilh | 18, T Wige @ 3110 o A U — gEY W
- one Tﬂﬂmr“ﬂn;; How many hand, shakes TEH dN B ml _:E_?r -ﬁﬁﬁ a7 B
Bar 6 2 werg done altogether. "
A B4 ‘2. 16 e T |
2 28 4. 18 '; 52‘; i- :g
20. Three of the six vertices of a regular hexagon | 20. Il g woacqw © 6 N8| A o o
[T e o ke ;*;E R Ul it %1 g (at random). AT A &
iangle forme V se verlices s | e f ;
equilateral is L | 5 i
i 5 | it & |
20 10 1. 1 . g
3 1 4 l 20 10
5 1
Direction :- Question 211025 few : (e 21 W 25) 94 QY T ug A9e

Study the following pie-chart and bar graph and | 3X @} 1% &I FTAT f=fefas we!

answer the following questions percentage | @ STk CIfory |
distribution of teacher in six different districts. Total | 72 aem — 3@ faai o Rl @ ot

numbers of teachers = 4500 TR e & ATt @ e W = 4500
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Percentage of teachers

>
-]

District B
165
istrict C

2E%

District 0
155 1]

Number of male uu; of {tsl}u

District A
Disirict B
Crisirict &
Ditrict O
Deztriet E i
Diwirick F

!
L] Ly L]

@ 100 100 B0 400 500 2S00 700

4500 Tl 4 9 TEE B FEN TEE
foret # arerT—are

o |
Farer
(- |
fomr

[ £

L ! !

nlmmmmmmm|
]

—=w — ] :
B e - o i TR o] 2 mﬁ'“' B i BTN o e
: emale rs in ISLr an
Female teachers in District B together., _ 3, | s forem 8 # afear Rl 3
1 1180 T2 1080 &1 P | we T &7
3. 1020 4, 1120 2P ; ']l‘lugg i :?gg
e e e SR T
is approxim pe a ; -
number- of teachers (both male and female) :ﬁf} il %‘ﬁﬁ mg‘:
in District A i 1 S -
1. 70 2. 80 1. 70 2. 80
3 75 4 a0 . T - 4. 90
23. In which district is the number of male |23. fFH Tl & PEFE @ §&T Alge
teachers more than the number of female Bl & oS -E-‘p
teachers? -
1. Bonly 2. D only 1 B @A 2. DA
3. BothBand E 4 BothEandF 3. BalReTE 4. E 3R FSH
24, What is the difference between the numberof | 24. ar F 7 #feen Pt ofr e e &
oo leachers it o ol | g fer (g — st <) o
S o 4 TaT IR 27
E? :
1. 625 2. 775 1. 625 2. 775
3. 675 4. 725 3. 675 4. 725
25, Mﬂ'ﬂtismeraﬁuufthenumhﬂrnfmalegs,ﬁmc#aﬁqﬁwaﬁ?ﬁ{mgf
teachers in district C to number of female ofter fEal @ 9@ @ 49 A
teachers in district B? 47
1. 11:15 2 15:11 Siga <
3. 158 4. 815 1. 11:15 2. 1511
3 158 4. 8:15
Page 5 of 32




@

16 minutes in 24 hours. What will be the right
time when the clock indicates 10 p.m. on the

4™ day?
1. 8 pm 2. 9pm
3. 10 pm 4. 11 pm

|26, Complete ihe given series |28 @& e gEen 3 g AR
23, 235, 2545, 25456 ..., 25, 255, 2545, 25455 ..........
1254545 2. 25555 1. 254545 2. 25555
3. 254555 4. 255454 3. 254555 4. 255454
27. Find the missing letter . « o |27 @ aof @ ﬁ-‘fﬁgqu :
3 | L |4 | iy 3 LE | 4
- B 1 | e |7
5 | 7 4 o s 4
1 [ 2 1. Vv 2. P
<R I 2 3. O 4. T
28. In the given arrangement of numbers after | 28 @1 72 W@ omEwn § @ @6 Gk
removing all even numbers which is the Wl H Ber v g9 "t & 4
ﬂ}gdiﬂ most number lq"'q!- ﬁT’E{ .Eﬁ;r m 1 E':I_Iﬂ.:;
1 125 S927THAS 123514283 :
gl g iy ﬁ,}f" Fosfzt ‘;q - 185947125836502764529264123514283
3 ﬁ 1.5 .
3. B 4 9
29. A clock is set right at 5 a.m. The clock loses | 20, T wa] &) HaE UMY g9 WAl oAl T |

g8 Hel 24 |2 F 16 fme 98 81 ot
2| R gfe a5t w9 & =9 991 &)
IR R e e T

Direction (Q. No. 30 to 31) : Answer ihe guestions
based on the following information. Numbers are
written on the Chess Board as given below.

1. 8 pm 2. 9pm
3. 10 pm 4. 11 pm
Faw (Mo wo 30 & 31) : Freforad WA

o AT vl @ 9w e
a8 W R sEw e fordt #

L [ |

8 b ¢ d e f g h dBie ids e f g ch
1 |1 ER 3. [N 5 e 7 e 1 [ -T2 314 5-T6 | 7T¢8
2 |9 (101112131435 16 2 [Eaal 10 [N 12 B93 14 151 16
3 |17 (18|18 |20 21|22 23 |24 3 [ 1.FA8 | 19020 21.[22 | 23.] 24
4 |25)|26 272829 30|31 32 4 [25(26 27|28 297 30 [ 31| 32
5 (33|34 [35]|36|37 38|38 [40 5 33.[B84]35|36 (3738|3940
6 | 41|42 | 43 44 |45 | 46 | 47 | 48 6 [47]42 [43 | 24 [45 | 46 | 47 | 48
7 |49 |50 |51 [52]53 545558 7 1495051 /52]53 545556
8 |S7|58 5960|6762 63|64 8 [57 |58 5060|6162 63|64

30. Wag=a,+a,+ax+... +a; a0. 3

bﬂ=h‘1+h2+h3 T, o s

hg=hy+ha+hy+ ... ":hr

hE =h1 'I-hz '|'h_3,+ L. lI.' |'|-I|.

whatisag+bs+ .............. + hg=
1. 2080 2. 1596
3. 399 4. 741

whalisag +bg+ .............. + hg=
43080 2. 1596
3. 399 4. T4
~
Tl 5
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‘Directions

31. The total number of odd numbers on the |

3. 24 4, 32

white box are -
1.8 ﬁ

31. Y40 SNod H fordl @ (o S
fawm 87
1.8 2. 16 324 4 32

: Read the information given below™
carefully and answer the question
x +y means x Is the sister of y.
x -y means x is the son of y.
x X ¥ means x is the mother of y.
x #y means x is the father of y.
x +ymeans xis brother of y.
x =y means r Is daughter of y

32. Which of the following alternalive means 'F is
father of J.
1 FEGEHRIZ Ff—?ﬂf"‘f’ W E—T
2. J=l+H#G+F Wi
3. FEGZHEIY éﬁﬂ% y X
4 J+I-HxG-F r;_“}
S M5 A

P — A 2 T IRl $ 2 | Igan
Weq &1 9T Gy —
x+y YT 5,y B TEA B

x—yﬁlﬂﬁﬁx,yﬁfaﬁﬁl
x Xy IR 5, y B AR E |
x#yduidy y & far )
.1:+yGTET1ﬁx,yEﬁF‘TI'&F%I
x=y3ﬁﬂiﬂx,yﬂ‘ﬁﬁﬁl

32. T A | @9 9 fawey &1 o=k 2, )

&I U 81"

1. F+G#Hx!l-J
2. J=I+H#G+F
3. F+G-HxI1-J
4 J+|-HxG-F

33. Five persons are standing in a line facing
North. One of the two persons standing at the
extreme ends is a teacher and the other is a
businessman. A doctor is standing to the
right of a student. A clerk is to left of the
businessman. The student is standing
between the teacher and the doctor.
Counting from the left the doctor is at which

33, UG e U uiag § 9w feEn
5 ova we ¥ ufew @ 9t aiftey o
A UH R FEAOd 8 AN g
[

place?
1. | dl TSl 87
3. 1 4 vV 1.1 2.
3. Il 4. IV g
Directions (Q. No 34 to 36) : Read the information | fg9r (Wo Ho 34 — 36) : = = Mg AHEN

given below. .

Ten friends ABC D E F G H | J are sitting
on the opposite sides of a rectangular table, five on
each side of a pair of opposite sides of the table. J

& F are sitting next to each other. Bissitting at | 7 43 &) J 3R F 0% g9 @ UM &2 ©, B
middle position on one of the sides and C is sitting | £ AT B ¥ I+l
as far from B as B is sitting from A. A, B & C are ﬁmﬁm mzra A -ﬁiﬁé.-r{:'gq A B aﬂ??c
sitling on the same side of the table. G & | are a0 :
sitting opposite to each other, D is on one of the A D TE A AN A 2| G AN T‘ﬁ @
ends. E has an equal number of persons sitting on | §={@ 43 2| D F¥ F BR WA 21 E &
his either side. | is sitting to the immediate right of | =y} afw T W f§ =fa 3F &1, D &
D. freer s aiw ds1 &)
34. Who is sitting opposite 1o G. 34, G ® UE DT 40l 87
1. H il 1. H 2. |
3. J 4. A 2. 4. A
35. In between of which two persons | is sitting? | 35, | 9 21 @fdad] & #1g 9a7 &7
1. D-E 2. J-E 1. D-E 2. J-E
3.B-C 4. D-B 3. B-C 4 D-B
=
z Page 7 of 32
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a mirror is 4 hours 35 minutes. What s the
al time in that clock?
. 7 hrs 25 min,
2. 8 hrs 20 min.
3. 7 hrs 35 min.
4. 8 hrs 25 min.

36. In which of the following pairs, given person 36 TTH Y BE O T H o8 7T =it e
cannot be sitting opposile to each other? EEH—;. & Riia: cc - 2
1.D-C b= £ bl a7 ﬁﬁzg#-c
3. E-B 4 G-H 3 E-B 4 G-H
37 A fruit seller does nol use currency. Instead 37. UF Bel (A H&T T SUART Hel $HvdT |
of he uses the following exchange rates : THF ool = Ay F
10 strawberries = 2 Apples e ﬁ‘ i =
29 H WART &Y &
1 Apple = Z Bananas ARG e
4 Bananas = 1 Mango e ¥
: i 199 = 2 Bl
On the basis of the above exchange rates, 4 Fel = 1 =
how many strawberries are equal to one SR N T At N # o w
mango? WA UF 3 B awEy 27
1. 4 2. 1. 4 2. 8
;j(‘lﬂ 4 12 3. 10 4 12
38. If > stands for + g9 -Yx5+8+ 2. 38. T > o1 e +
< stand for - u
29 —Y %5 ¥ < 1 aef -
~ Stands for x
s00-20 ¥ - A BT 3 x
v stands for + L9 1§ &
Then wha is the value of 52<4,528,2 -t vaE o+ g
1. 38 BRI 52<45>8v2 & T & —
3 124 4. 312 53 %5 4 1. 38 2. 36
A-do* ¥ 3. 124 4, 312
5‘,14 a‘_
39. The time shown by the reflection of a clock in | 33, TF U H UH uel © Uaem 5 4

oY 35 e fRad 2 w ¥ oo ud
¥ HE weg w87
1. 7 9oy 25 faqe
B SwdN 20 e
7 9w 35 &=

2
3.
4. B g9dN 25 fimc

Directions (Q. No. 40 - 41) ; Read the information
carefully and answer the questions given below :

A cube is cut into two equal parts along a
plane parallel to one of ils faces. One piece is
coloured orange on the two largest faces and

yellow on the remaining. The ofther piece is
| coloured yellow on two smaller adjacent faces and
orange on the remaining. Each is then cut into 32
cubes of the same size. These 64 cubes are mixed
up. Then :-

e (50%i0 40—41) : & TF ST @ o
#ﬁaﬂ?ﬂﬁﬁﬂ‘&mﬁaﬂ?ﬁﬁ:‘m;—

: ﬂﬁﬂﬁfﬁlq
51'-@. 6;3
8
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&l

§ =

a?hl

aEECEE SR

40, How many cubes have no coloured face al

i 40.

fe B @ Wl UX @Ig T A8] 87

all? 1. 0 2.4
1. 0 2. 4 38 4. 16
3. 8 4. 16 - - »
41. How many cubes have only one coloured | 41. (o] B4 4 Sad U@ 1 BT Betdh 87
1;353? 5 il 1. 8 2. 16
1 24 3. 20 4 24

42, Choose the comect alternative thal
represents the relationship among illiterales,
poor people and unemployed. 3

X000 <@
- 2000 «dD

42,

el [aehed &1 =49 $Y Wl AR e,
s wrfem it avaT afeaal d sy

o —
OO z.@
000 «(00)

Directions (Q. No. 43 - 44) : In each of the

e (Mo W0 43 — 44) : &4 U g9 B TR

32

8\ .

following guestions find out which of the answer ETIT‘z'?i?{ ¥ 78 e S yus am F
figures complete the figure. =¥ ?‘ﬁ ‘I‘UT
43. Question Figure Ig;{;x NEETe) 43. U T [ % oI% CE o]
* OIX  OIO%QD #* X ¢|{HE
O XIO* ClO*o O XIO¥ OO0
4 ] W * P
X % C * X X EETS
o
Iﬂ%‘ﬁ@{} O*0 G*g;} ok 1¢)
Answer figure
X * o
i s Kﬁg 2.
O * O¥% <
L X
3. }{-:Eg 4. | %
v &
44.  Question figure 44,
- s 359
200
000 ?
? |oC0
000
Answer figure ELECE] b
2. 388 1 2. 888
Oo0
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Directions (045 - 48) : Select the correct
alternative which will fit in the place of sign of
interogation for a correct patlern.

L

frdw (W0 wHo 45 — 46) : TE! 9o & oy U
ahd fos & ¥ X wEEifae '
» 0 TEI fwea o1 wua B

S

43.

45,

cnc lnnnlcuc v v CNC |INNN|CJC WU
1N £ C LN 2. C
T 4 D i 4. 2
46, 46.
ppaglapop|paaajaa @ 0DAAaDDD|DAAA(Aa -
1. 4D ' 2. 0@ 1. 4D 2. Q0
3. Dd | A-DD 3. D{ 4. DD
47, TSKYWASBLUE 5123 SK3- . o |47, dfa -
s | e
3 N 15 :
'PEOPLE LIKE SKY is 801 and TR A & 245
'BIRDS IN SKY' is 169 Then 'PEOPLE LIKE | I WH® & 78T & 4678 &
BIRDS' will have the number. = 8€ «J ERl STEE TES 801
o < v ‘weft IrEEE A 169
809 . | . ,
onT Ut U @ w W  5eile
e 808 1. 809 2. 104
3. 036 4. 806

Direction (Q. No. 48 - 50) : Find the missing
‘| character in each of the following questions

fader (Wowo 48 © 50 a®) : 14T MY WEAT H
o e Fand |

o« A " |*
3 2 " ¥ H// 1 2
7 Sy ?
1. 54 2. 51 1. 54 2. 51
548 4. 44 3. 48 4. 44
Y9 00 00 @ © @ O ®» @
2] (2] (4) 2] (4)
(D @ © g Q)
Jo o 2. 51 1. 54 2. 51
3’5 4. 6 3 5 4. 6
50. i ,‘q_."“. 50.
P = E:"?i%u Bl 'E‘Pi?“? " ” 12 81
L0
“ 8 15 100
1. 40 3 2 30 1. 40 2. 30
20 4. 10 3. 20 4. 10
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Language Test (02 - B)

/ . praise

ENGLISH
(QUESTION NO. 51 - 100)
"Direction : Choose the word that is opposite *58. Wanton
iIn meaning to the given words in question nos a. frolicsome b. unplayful
| 51 - 56. 2 joyless d. demure
51. Insolent 60.° Exonerate
_a  Timid b. soluble a. release b. guilty
c. bold ._d. dissolving c. rusticate d. mastermind
52. Affable 61. Disparate
a. reckless ﬂdﬂ a. Eel;piass b. different
c. ungrateful d. respansible j"" needy d. unaware
53. Mitigate 62. Capricious
a. intensity b. barricade a. fickle b. calm
£ investigate d. personify ¢~ careful d. forgetful
(54, Detrimental Diréction : In question numbers 63 - B9,
a. hurtful b. desirable choose the alternative which expresses the
o~ profitable d. Injurious meaning of the given idioms/phrases.
55 Exodus 63. To hear through the grapevine
a. escape —" " a. Tolearn gardening
: b. To learn about fruits
,}‘/ﬁ' val % -BiliEts c. To learn something officially
~ To learn something from a rumour
56. Admonish B4. To hit the nail on the head.
a. reprimand b. chide a. To enjoy one's profession
b. Tolearn carpentry
c. scold

c. To be violent
&~ Todo something in an effective way.

Direction : In question numbers 57 - 62, out of
four alternatives, choose the one which best
expresses the meaning of the given words :

'57. Perseverance

65. A piece of cake
a. A difficult task
b. A special person
c. A memorable event
- An easy task

66. To spill the beans

%- vacillation b. volatility a. To grow vegetables
_ b. To open an old box
C._sieadiastness d. lavity '_‘,ef’an reveal someone's secret
d. To request for support.
58. Relinguish 67. An axe to grind.
: a. Grinding store
a. recognise . assert b. Selfish Eurpnse
¢. hold d. forgo /an axe for cutting trees

To take revenge

C.
- JJ.

32
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68. To beat about the bush 77. Ramesh  (be) a teacher since 1984,
" Not coming to the point - r
b. Tocut dm-?n the bl[:sh w‘ "’MEE’ been
¢. To cul expenses c. is being d. was
d. Defeat R s
9. To move heaven and earth 78. Don't bring her unless she
a. Todie (promise) to behave herself.

__b”To make every possible effort

el i a. promised b. will promise
g TE ;E;_'L”m p?::e: < promises d. has promised
Direction : In guestion numbers 70 - 76, | 78. She (work) since morning and

sentences are given with blanks to be filled
with appropriate word out of four altematives

now she wants to take rest.
_a.-fias been working b. had working

given - c. was working d. had worked,
70. Father divided his property two | 80. When | reached the theatre, the play
SOns. (start)
a. among 'E./lﬂ _a<"had started b. starts
c. in ~ between - c._ will start d. to be started,
71. Meena repented her | 81. The baby (laugh) with his
it ?“Eﬁ; Lr; the video | watched yesterday.
: _)!(f)lver b. of _b~Was laughing
_e./f:’:rr i 5 3 I;:gteet;n laughing
72. | want to dispense the services | 82. When he was unmarried, he often
of my servant. ,h’/ (arrive) home late.
a. of ” off } was arriving b. had arrived
c. with d. about ~ arrived ~d. would arrived.
73. There are more toys in the box | Direction : In gquestion 83 - 88, choose the
where this came from. : : -
a little b pal alternative with correct spellings
c. few ~g="many
74. He had friends, as he was an | 83.
aggressive person. . a. accommodation b. acomodation
W . some
"z‘/fmany 4 those c. acumodation ..4:3‘/' ccomodation
75. My aunt lived in that house five | 84.
yrears_t,h f Aumus b. emorus
a. wi < for
o iR d. soma _ C. amorous d. ammorous
76. | need mare time to complete the | 85.
ass;g:mant : a. sorcuror ﬁnmerer
a. a few
c~a little : ,B{’Ilttle C. sorsuror d. sorsurer
Direction : Choose the correct alternative of | 86.
the wverbs given in brackets from question .
numbers 77 --82. a. receive _‘/I:f‘ recieve
C. receeve d. riceive

e
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final impact point. The SLV-3 launch schedule |
was dependent on the arrival and integration
of this equipment. On landing at the Madras

B7. a audeceous L,Ja”' ;udaci::-us.
c. audasious d. audesious

' 88. a. diskripency P Eisurepanny
c. discripancy d. discripe  ~

airport, the aircraft which Sivakami was
# travelling in, skidded and overshot the runway.
Dense smoke enguifed the aircraft. Everyone

Direction : In question numbers 89 - 95, out of
four alternatives, choose the one which can be
substituted for given group of words

jumped out of the aircraft through emergency
exits, and desperately fought to save

| 89. An unexpected piece of good fortune.

a. to turn turtle “ windfall
¢. philanthropy d. fortunate

themselves -all except Sivakami, who stayed
in the aircraft till he removed the transponder
from his baggage. He was among the last few
persons, the others being mostly aircraft crew,

90. Of unknown name.
a. synonym ./H/ anonymous

to emerge from the smoke and he was
hugging the transponder close to his chest

{unamr_n_ﬂus  incognito
91. clusive possession nf anything 96. The speaker calls Sivakami courageous

a. monopaly b. autocratic because.

c. aristocratic d. monogamy . he was blessed

. he transponder over
92. Aplace for the sick to recover health, he looked ?Bﬁt&r the transp
‘sanatorium b. stable Hi: GT) o a0my
A c. the team was blessed
€. granary d. arsenal

o

32

93. Study of the interaction of people with

their environment.
a. ecology _,hf/ﬁ‘rnith ology

c. calligraphy d. cartography

d. the transponder was brought to
Chennai by him

97. The aircraft was in danger because
a. it crash landed

b. it made an emergency landing

94. failing to discharge one's duty.
a recklessness b. dereliction
— b
c. submission d. reluctant

¢. it skidded and overshot the runway.
& it was covered in smoke.

g8. Sivakami was the last to come out

95. A person who is an expert in fine arts.
onductor b. contemporary
. connoisseur d. artist

because
~ he stayed back to bring the
transponder safety.

Direction : In question numbers 96 - 100,
read the passage and choose the correct
answer from the options.

b. he was blinded by the smoke.
c. he helped save other passengers
d. he was in a panic

Passage
At every stage,SLV-3 team was blessed

Alongwith Sudharkar and Sivarama-krishanan,
there was also Sivakaminathan. He was
entrusted with bringing the C-Band
transponder from Trivandrum to SHAR for
integration with the SLV-3. the transponder is
| a device fitted with the rocket system to give
' the signals which are powerful enough to help
it track the vehicle from the take off site to the

with some extra-ordinary courageous people. |

| 99. The transponder was a device that
a. was used to test the rocket
b. launched the rocket
c. was needed for the final impact
,d/gawa the radar signals

100. The fransponder was needed in time.
a. for the rocket to be seen as the radar
B for the launch to take place
c. for it to carry out the take off
d. forit to be integrated to the rocket

-_— =
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fe=r
(we=t wE=T 51 — 100)

Prefefiag 5§ 39 o Y= Romn | 59

THET B el A8 AT —

87 nr 1. Hgg safed 2 99O
1. VOTil wifgeer 2. O g
3. WIS 4 IOH U 9 3 WD NS 4. SIPT W
52 areifeifad 9 o fasmyl 9 & — 60, WET @I gAradrEl & — F |
1. ¥raed 2. Helr 1. f&wvg 2. Pl
3, aRaref 4. e 3. foarer 4. HfEAT
53 IEEdl &0 E ¥ (hHd <an |61, [AEIreiedd H 9 dgWd 9% € —
i @ — FRa 87 1. HAC 2. &I
C 1 e dgard 20 o wrd 3. J&i® 4, T
| 3. SCgUDTE 4. HIAT sadid
54, HIEA WAl GIGIT e AT @7 To | 62 fmtaied 8§ ¥ A ([@ed) we & |
&7 ' 1. =@l 2 ey
1. ST 2 GBI 3. e 4. @I
3. HTeHBLY 4. fau
55. TpAfeliad d 9 <9 e & — 63. TH=IelNad § | SIF—4T Uh TETddhR
27
L2 &~ 1, g 2. A
3. e 4 T 3. Igrfa 4. YHG
56, TIRGHI (56 ACHON DY ACAG 87| 64. HE B TO1 G ATl HEANI § —
1. FﬂETfTI'cﬁET 1 ﬁﬁm ?_,'_Elhl_'ﬁ
2. HAUYHY UHE '
3. IUE AP 3. ¥ 4. HH&I
4. TGS TE ARE |
57 PR § @ anres T e & — | 65, [eloied ar@dl § § gey aad @l
1. Ao 2. wer T PITT — '
3. WHAA 4 Ul , ¥ @1 | eu TR
58, Trefelad § @ @ am @ @ ag| 2 Ve | HEH e E)
T & - 3. 8 ardell A @1 g9 &
1. <" A6 2. U HfE 4. °NT T A UG BT |
3. U1 HiE 4. fawl @@ EVL ST ¢
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66. NG @ GHH He{ ¥ argd ¥ argd I BE A QU DI W& Bl & —
oeg Pl 27 1. 189 2199 2 229 26 qUf
1. W8M 2. WG «| # 3 14V 1eal 4 27 9 32 9uf
3. 4, <9 _

67. YWIR dEIqX (Mg @ OF B8l B | 76, FreIeiiEd A © aod¥ U & —
7?7 1. W4 2. WY
1. gftfan 2. SENIQY 3. e 4, @
I 4. HIeAET £y

66. VTl W Wad g eU| 4/ A |77, Greldiad ¥ @ 8AN gaE Baer @
wElidha gg diH—d] g3 87 T B —
1. Siarad |l 1, 3d & gdread
2. WrEargd sl 2. el
3. fdaaras |5 3. dwig @ fEe

. 4 T A PIE TR 1 4. gHIDHS

69, U A HE MY 1A d — 99w § @i |78, OnulE wes & —
1. Magas gdam Pries
2. fTeaEaTEd WEH z it
3. Hagqrad Hd-H | '
4, Yy¥arae Ha-H 4 FH A Ple €

70. HOEERA ¥9] @7 e e af gan? | 7o, Frefafad § @ fbw vomT U wdw
1. 1975 2. 1979 G G I o B 1 -2 G et
3. 1965 4, 1977 UERR fHer?

71. veerEd 9 @ fea umer woes | 1. gfedl w E a
Eg 3 A far? 2. AT 3 el
1. =4 2. e 3. e @ g%
(3. iR _#, W A: ﬁ&ﬂ*ﬁ?ﬁﬂ

72. GOl DI ge § D1 g GBI A8 | 80. TN U= & FEl WY [ae0s el
%??ﬁm_é 1. 9+ 9RW 2. 99 + AR
1, 2. wfsT

R ! e T e

73, Fr=fafad 4 9 <1 &1 W) o |81, Sooigd # Uged UG & —
ﬁjﬁ% afes iy -
1. 2. :
3. Wi 4. TR 3 = 2

74 HRG A BHET YEldR BT 3 & — g2. BX WMl @ ohaw § Hg @Y &M
1. dfeard g arelt Hel & | — arg ¥ I@ifhd s
2. W A T i & oIy ua o ' -
3. g G Sl 1. Wifa® 2. IR
4. 9gd @ fRard ueer 3. wfaeaemr 4, g
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2. HEF gHT 6 TR B
3. el | ISR 8 |
4 T A A G

83. W& Wl [ddH & & —
1. oy 2. faqa Wmﬁﬁ?
3. wfema 4. Fpe i . WIET 99T $AFGR S 2|
54 T vaad e @e § waii 2. WIE oS TS |
g ¥ 3, aresl g9 B e |
1 3"‘ 9 TN 4. od N9 B8 <& o7
3. 3o 4 TH 94, Tereiferiad H § Uivad fewal drell &4
?
8s. ?ﬂ?ﬁﬁlﬁﬂﬁﬁﬂmﬁﬂﬂaﬁﬂﬁ ﬁm 5 e
1. ?-!;T!T 2. HARY Eﬁ ﬁﬂ ﬁ}_ﬂﬁq o
3. T 4, T x 22 T i) Sl
86. [l 3§ & (@ add H AdHD 1. weRdraAf 2 wfaR g9
forar €1 €7 3. ' 4. TIUTE
4. o= 9 W B s — e P @ ¥

muﬁfﬁjiﬁwnﬁﬁﬁtﬁ?ﬂﬂﬁﬁﬁﬁ‘m—

ar.

Wide — | & RUET JWe D
WGP B —

1. HIEA T 2. 3d g
3, g9Ud 4. H9q g
88. [A=faiEag 4 9 f5g o5 § uedy &0
YT B3 E
1. fawa 2. gf\&s
3. IE 4.
89. <aTgd — ol avl HI SaTeN" & —
1. ©& - |
3 9 ol o
o0, HUFITEET [hud gaNT wod @i
27
1. W¥a&rd 2. gordEn
3. UGHTPY 4. MNMEE
91, WET OX § 498 AT — 59 d99 H
W B — A NG 87
13@?:1?[ 2. TH
4, Hl
92. ?ﬁmﬂﬁaﬂq AT T B
1. THRY 2. g
4. ITHHY

3. dgdlfe

FTWT
e @1 YN wigd &1 91 Hig
mwﬁaaﬁﬂﬂﬂaﬁsﬁrﬁm

W%sﬁ?wmaﬁ#qﬁﬁ:‘m%l

mwa%‘rmﬁriﬁrq’faﬂmm%mﬂﬁ
g Wi e AP Wit o W @
| TATEeE & Wigd @1 9gevd & g
2| 5qw Waw 9i e @ g @ o
@ vear &) fAd B ® W, v A
faeer 2 el &1 - 9Rar # fe
@ da—dre waT #, fewr @ vy H|
Afps Wieew @1 g, 39 A= | S
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SCHOLASTIC APTIRUDE TEST (SAT)

ifére Tradr oder

(QUESTION NO. 101 - 200)
(U |&AT 101 — 200)

%>
N

101. If a body is in equilibrium under the effect of | 101. 4fS T aw T© @™ ol & TAIT §
some non collinear forces, then the minimum W e o =Ty
number of such forces acting upon the body e O el ;T :ﬁﬁgﬂm _q?

8 A 1. 3 2. 2
3. 5 4 4 3. 5 4. 4

102. A heater coil is cut into two equal parts and [ 102, T® Blex @1 ®ewl ® & aXEX AW A |

only one part is used in the heater the heat FCT AT 81 R Dae TF W B B

ed now will be.
9% - Seafaia IS W OHE BN -
3 . doubled 2. four times
1y 3. one fourth X alved e St
SR 4 e v 3. Ud =g 4. T
2 fi. 103. A bar magnet placed in non-uniform | 103, 3FTATH A & | Y& A (S He
+ magnetic field experiences - qHE YWY Gl B —
*"Lx 1. only torque S aeqeh
3 2. only force i i
o 3 both torque and force 2. dad 5d
w 4. neither force nor torque 3. T g g6l g1l
| 4, ¥ 9 AR 7 T et
, 104. How much water a pump of 2kW power can | 104, 2 fhalrae ofd &1 v o9 7% e o
(2=

ot

ﬁu’aisa in one minule to a height of 10m?

2 (g = 10 mis?)

10 HigY @ Sdls d@ [haa1 o Far
" 87 (g =10 Hlo /o)

o~ = 1. 1000 litre 2~ 1200 litre
3 3. 10 litre 4. 2000 litre 1. 1000 ©iex 2. 1200 ©eY
1:‘-‘_‘;_.:- 5 N 3. 10 efiex 4. 2000 e
105. ﬂThﬂ Hin:-'t'ﬂ: Enerigf of a body becomes 4 | 105, 4l @&y @ oW oW IUP RS
pel .+ times of its initial value. The new linear
..-n"ﬂ% Gl W be. . - 9 B TR PO W G W W SEdT

ol
b
y
'h"#

1. Same as initial momentum

2. Four times the initial momentum
';({wu times the initial momentum

4. Eight times the initial momentum

a1 YRaw w8 |
1. WRMgE HET B wEE ]
2. YRS W @1 AR o
3. RS T &1 Shpon

4, URMEES T B 1S O

106. In a simple pendulum mass of bob is m and
effecting length is L. Work done on the
pendulum in one complete oscillation in
gravitational field of earth is -

106.

U O¥el dleid H dleld @1 S0HM m

T AT EETE LR | gl & s
ga # te f e A dee w e

P

.: 1. %mgl 2. —émgl. T B R - ;
/JI."IEH:I 4. mgl 1. émgﬁ 2. %mgL
3. zero 4. mgL
Page 18 of 32

S/27 EODM7-X -2B




107. The mass of earth is 80 times that of moon
and its diameter is double that of moon. If the
value of ac:ceiueraﬁc:n due to gravity on earth
is 9.8 ms” then the value of acceleration due™
to gravity on moon will be -

107.

g&ﬁ‘raﬂa?utrmmf#ﬁﬂﬁaraﬂ
o & R THE A T & N @

o STV 2| TR Tt W TEA o @

q 9.8ms? B T TwAT W TR vl

S TH T W | 1. 0. Qﬁmg T 0.49 rnE: @1 A7 BT —
w W 3- Q.E- ms F"".g ms’ -I_ D_EB ms-: E. u‘q‘g ms—-ﬂ -
: . 3. 9.8 ms? 4. 49 ms?
108. Two lenses of focal length 1, and £, are kept | 108, f, T £, Bi®d <4 & af oF & TR W
in contact coaxially. The power of the mﬁﬁmﬁq?ﬁnﬁhfﬁfﬁ?ﬁ
_ combination will be T 2 wifa 2l —
Fakl L1, 5 ht
B Eey g T Dh , hth
| 2 1.2 .
¥ BN h+£ e
A
3. == 4. fi+ 1, M
Jr-_f : 3. -2 4. PR
1 2 J‘; -j; .|'Ir Jf-
% s ||| 108, Infig. a ray of light undergoes refraction from | 109, 3 H, TP WhIE [V ARgH A 9§ AEan
rnadiumﬂtumediunﬂlflhaspendnﬂ}ght B H ymafta sl 2| af® A wraw #
in medium A is v then the speed of light in
medium B will be - T P I v B A A B A T e
3'?[ Tlﬁ Esl_rﬁ ey -rl_l.ﬂl'ﬂ.'ﬂ'
N " =L Kl‘"-l
J3
ﬁ—ﬁ ; e . - - L
el dcl o T i W7
gt N %
A 1. ‘\Ev 2, = 1 3v 2. -
£ xﬁ "JE g ol l6¥4D
TR 3. 2v 4 X 3.2y & L g
T 2 2 e
110. A body falls freely from a tower and travels a | 110. U@ WMN W W [ e awg |
distance of 40m in its last two seconds. The mﬁmzﬁa‘%@#mﬂnaﬁfgﬁmaﬁﬁ
(Takeg = 10ms?) | (g = 10ms)
1. 54m 2. 45m 1. 54 Hi0 2. 45 Hio
3. 80m 4. B5m 3, 80 #Hip 4, 65 "o
7 m | | 111 The resistance of a wire is R. After melting it | 111. 58 o) &1 SRR R B B TEeEy
i || & amouied ich it e o %t | g 3 o 1 o ¢ o
: : - TR e Ao IIHIE F g
T T Cross section. its new resistance will be - i b i
i x X O B W 2 | §HeT g1 Wiiwe e —
el 1. AR S
3. ¥R R L
w 3. R 4 f“:
8 0f 32 E::Eﬁi. R=34% TT_
P aj Page 19 of 32



112. Which of the following is/are true for an
ammeter
A An ammeter always reads lesser than
actual current. '

| B. An ammeter always reads more than

' actual current.

& An ammeter is always connected in
series because it is a low resistances
device.

D. An ammeter is always connected in
sefnes because it is a high resistance

device. .
1. Only A 4+ 2 Aand B
-2 AandC 4. only D

12 991 % & o9 @ / a1 | oae
gRIHT & fod wem 2
A URTMY @1 /I BHYT TS A

* [ HHER &
B. HNMNT &7 AT g9 gwdids 7T
o &fEE By 2

C. HRTAT! &7 2o Siv07 379 H
I wrEtoE g oy &
FIf gHGT WieRKT 9 /a7 2|

D. RN &7 2997 497 79 3
sl waEife frar o 2
ifE guer uftey aifte 267 2

1. Tad A 2 ATE

Fael D

113. Two light rays P and Q are incident an optical
device X' which finally goes along 'R' and 'S".
identify optical device ‘X',

113, 21 Y@ 01 p d Q U weee gia

q 5 $ WY 9 T o 2| uelE
B e X B G5 ) —
P—a>— X R T
Q —>— pe—t %
1. Concave lens 2. Concave mirror S
3. Convex lens - 4. Convex miror 1. g0 oiE 2. AT g9
3. 90d o 4. 3T g
114. Work is said to be done if the force and | 114, &% Febar 1o ®eT AT & dle g9 T
displacement are GRS G
+1. Parallel to each other 1 wwiﬁwg‘“
27 opposite to each other 2. UH gl & fudiT 5
+. 3. inclined at an angle with each other 3. UH {H‘l’ & HY BT 9T AT B
8 (# 90°) B (# 909
+ 4, All of the above. | 4 TIRET ?.'1'143[ i |
115. Which metal is used to connect solar cell to | 115, =8 & T GTg e’ Wl &b arer
solar panels o 9§ wited) 2
1. Gold -2. Silver by | 2
3. Copper 4. Aluminum 1. B i
3. @Y 4. gy

116. What is the correct electronic configuration of

Cr. (At No.-24)
27 [Ar]"™® 452 3g*

1. [Ar]"® 48 3d°
3. [Ar]'"® 4s” 34° 4. None of these

116. Cr. (TNATY] W&AT) 24 THHI solaciT

1. [Ar"™ 45’ 3d° 2. [Ar)™ 4s? 3d*
3. [Ar" 45° 3d° 4. 39H W @Ig e

117, Nature of AL,O; (Aluminum oxide) is

17, ALO; (Tegfram sfieans) soa! Hfa

1. Acidic 2. Basic el B
_ Amphoteric 4. Neutral 1, amelg 2. &Y
3. 99T gHi 4, FETEM
’% ﬂ j? : Page 20 of 32




118. \What is the pH of dil-HCI solution which conc.

118, T [OeTdE [oT|d] 10° Hiel Wia folev &,

:IIEI'E;MQLJL. i HFedl, S9&H] pH 47 817 |
3. 6.98 4 10 1.7 £

phenapthalin put into test tube contains lime

water.
1. Yellow 2. Orange
27 Pink 4 Colourless

120. Which is the correct answer, if n=4 (Where n
is number of shell) then no, of slab shells and

120'-'ﬁ%aﬁ?—wﬂ€laﬁwrﬂﬁ

electron present in atom. :
1. 16, 32 2. 32,18 GOl 1 U AT e
»3. 32,32 4. 16,18 1. 16, 32 2. 32, 16
3. 3,32 4, 16, 18
121. Dunng preparation of soap, sodium - is used | 121. '\‘!’I'ﬂ"ﬁ'ﬂ?i"ﬂT %1 fafy 4 wfegw &1 IuaT
as BT & —

1. Precipita |'.E1th§ soap
;.}I;Ehydratlﬂn of soap

3. As a catalyst
» for smoothness of scap

1. W ©T A8 HA H
2. WEA & Foreneeo 7|
3. TP SoN® ® WY ¥

122. Buckminister fullerenes is
1. Isotope of carbon
2. Isobar of carbon
" Allotrope of carbon
4. MNane of these

123. Which =alts are responsible for yellow colour
of Taj Mahal in Agra due to Acid rain
; EE‘CI;- & EEEG.‘

2. Ca(NQ,), & CasSO,
3. CalNOy)s & BasSO,
4, CaS0O, & BaCl;

—=

122. TN TEHACEY 4T €,

123, 199 ® § DI 91 9 A @ aradsd

H G T TN @ Seeiia 2

G 99§ BN —
1, CaCl, & CaS0y

21 CE{HGGIIE 5 GEE"Dq.
3. Ca(NOsy); & BaSOy
4, CaSOy & BaCk

124, Which of the following are the Green house

gases
1. CO; CHy, N:O & Oy

2. CO; Octane, Chilorine, Nitrogen
3. Methane, Cxygen, Helium, Neon
4, None of these

124 = o | -9 T Jurer uvE &
fom sover 2|
1. COs CHa, N3O & Oy
2. CO, ATH, TAINA, AEerad
3. "+, sfiediaq, fRefas, FaE
4 T | @ AL

125. Which of the following sub shells present in

atom
A s, p.df 2. ab,cd
3. sdng 4. None

125. FT791 H @@ § HadE qErY] H

ab,cd

R

L] 2'
N, 8 4.
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126. Which elements are used in Atomic Reaclors [ 126. g% & @19 @ ocd UNAM] a3 & I
to control the speed of Neutrons & T & FatE e & fam
' & Boron & Cadmium S R
2. Cadmium & Aluminum fg iz [
3. Boron & lron ~ 1.2 gRH, Hefha
4. Sodium & Potassium 2. Hhefags Qﬁgﬁfﬁ"q‘q
3. gRME, A
4, wfETH, gref¥ms
12? How many atoms are present in 1kg of silver [ 127. 1 [hd] oW =@eT & (e URATY] SO
o (Alomic mass of silver = 108) | -
“!':,'iﬁ 33' 1. 2.03 x 10* atoms 1. 2.03x 102
A 27 5,57 x 10™ atoms et XA
L~ 3. 427 x 10 atoms 2. 557 x 160
. 23 .
“'-lr:_':""l e 4, 623x 10 Emmﬂ 3. 427 x 1D::m
v 4. 6.23 x 10™ YA 1
o1 128. Which of the following carry hereditary | 125, oiral & arj‘ﬂﬁlm e {9 ® SN warH
\ characters to the off spring in the organism? # ® TIY o 27
e 1. Ribosome 2 Chromosome '
3 P P @iytsbivess 1 WEEEE gRT 2. WIAN ERT
3. T EWT 4, HATEHEH gWI
. 128. which organelle of the cell is called the power | 120, HIHT 1 HIF | W1 99 299
house of the cell? Dl 27 .
1. Cell-wall 2. Nucleus 1w fafy 2 BEF
" Mitochondria 4. Complete cell 3, WECIiREar '\‘Iﬂ;ﬂrf FTFT
130. Plasma membrane is made up of 130. TATwT fRrestt aw E’ﬁﬁ E -
1. Protein 1. WA A
2. Lipid ; PPN
3. Carbohydrate <
" Both (1) and (2) 3. FElEEse ¥
i 4. T (1) e (2) |
 131. Which of the following is the site of | 131, A/ Ta ¥ M= =1 B4 Hef 9 24T 27
fertilisation in humans? 1. Taferg # 2. FEae #
1. Uterus - Owviduct i m ﬁ ‘ If!ﬁﬂ]'lf ﬁ
3. Ovary 4. Vagina - &
'132. What is the time of rest in the heart? 132. B2 o4 ANH FIl 27
1. Never 1. T TE
2. While sleeping : o
A& Between lwo beats 2 diie
4. While doing yogasan 3. T US@Al B §"
4. Tifrd AT F W
'133. Lacteal present in the villi of the small| 133 ger @ ;_qrﬂr H U W@ ael oeeTd |

intestine :
,ﬂ' Help to absorb fatty acids and glyceral
2, Secrele enzymes for digestion
3. Secrete hormones
4. Help to absorb proteins
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134. How primitive life might have originated on
earth was experimentally shown by
Urey and Miller

134, T2l W WAV Offad @ Sedid @)

TR w9 o wefde faar o —

e Right atrium and right ventricle
2. Left atrium and left ventricle
3. Right and left atria
4. Left atrium and systemic aorta

2. Watson and Crick ¥ 3N frew A
3. Oparin and Haldane ®, gead AR ffs |
4. Hershey and Chase. 3. U 3 Eeea o
L 4. B9 3R 9w A
133. Bicuspid valve is present in the human heart | 135. A1=9 g4 # fEHucig ar0g 5989 & &9
in between which of the following :- fa & 49 9T 9 &7

1. =ifg anfig ok sifem fem @ 4=
2. W19 g AR 91 e & 44

3. B¢ 3R &Y anfele & 9=

4. 979 anfel iR 7w & 49

136. Which of the following products of light
dependent phase are used during the light
independent phase of photosynthesis?
1. RUBP and ATP
2. H;O and O,

A& NADPH and ATP
4. ATP and O,

137. Grafling in monocot plants is not possible

because they have :-
1. Parallel venation
2. Have only one cotyledon
3. Have cambium
# Have scattered vascular bundles

136, WTY (MY OXV1 @ B B 9 IS
THIH HHHY ONOT @ 999 S99dnT H
I #?

1. RUBP 3R ATP
2. H;0 3R o,
3. NADPH 3w ATP

4, ATP 3 0O,

137. UF 4ra T97 O § Hed ol §9g
"8 & e —
1. 574 Ao Bwr o= B 2
2. T dEd UH & T B 2
3. ¥ Hffagd g |

138. Haemophilia disease is linked with -
. Sex chromosome
2. Autosome
3. Bacteria -
4. Virus -

1

. v () ¥

138. The primary building blocks of DNA are

1. Nitroegenous base, phosphorus and
ribose

& Nitrogenous base, sulphur and
deoxyribose

3. Nitrogenous base, phosphorus
deoxyribose

4. Nitrogenous base, sulphur and ribose

139.:*&@:{%%%%%%
1. AAEErEA 8N, BTEGRE AR Jsara
TEeiaAl &R, Teht 3R
Sl RIEard
. AEEAT &R, BRIGRE afi
Sl RIZ AN
4. SIEIOT &R, WEHY SN g .

140. Which of the following helps in formation of

140. Egfer &7 Teureq fdar oy 8 —

insulin - : T
=1, |slets of Langerhans : a@ﬁ%&ﬂqﬁ o
2. Pituitary gland 2, fog A
3. Thyroid gland 3. YnREE U R
4. Adrenal gland 4. IygFs (PigTa) uf¥ grn
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.:_:r: +4§’+]ﬁ||:'3 =48 and ab+4bc+2ca=24.

Than what is the value of a* + bh* +°.
T B

141. The value of n for which the expression |(141. n & TE #HE w9 U =THEF
//-*“":H x)+4x" +nx’ +4x+1 becomes a perfect o A el +4x+1 B g @t g9 T
T J,..Illlj,“ square is 2
v — 1. 3 2. 4 ~ 4% 5 4

A A6 3. 5 46
142 Da:pah'ﬁ_safa}w ishre:l[ul:_:ed by 10% in order | 142, S19e &1 904 10% ©c 747 £ | 960 o |
to have his salary bac to the original amount | ~ @ i 9 agw 9aw & 59 & fau
) j’_'r. ;lmau.llpitbe raised by huw‘n}:c{;gﬁpement? farers ufdrerd agrar wme?
" i-:‘{';* Ji' Ly, 4' 3 1. 8% 2. 10%
e 4 It— ; e
% 9 % 3. né% 4 11%%
137-1'-143' Suppose x and y are positive real numbers | 143 AAT «  auT y T UATSR  drahs
a : R
Y ;E{ such  that x/x + yyfy =183 and WE 2 B xx + py =183 @En
Tk
A 135,;‘* X+ ¥ +yﬂ_=132 then value ﬂf-l-s-E{x+;|.-']l xJy +yJfx =182, 7w %Ex+,}"} W HIH
e }';-r is Bl
'_.._:l"'ﬂ 1. 93 2. 146 1. 73 2 146
> 3. 82 4 126 : :
‘ 3. 63 4. 126 £
144. Lel m and n be integers such that allthe roots | 144, B9 m T n U9 ‘{”Tffﬁ £ & THE
of the E[Fatl?r;k]?‘.‘m'r; IﬂHxlla;-]?tx-Pn}J;lﬂE III1+MT+EDHII+I?I+H:'I=U h el FOMHD
are negative integers. The smallest possi :
valoe ol s n) : 3 &1 (m+n)®T HH;IE? 09 A B |
1. 24 2,20 e g
3. 25 4. 32 : :
145, If the real numbers a, b, ¢ are such that | 145 afe a3, b, ¢ TH AAAT E=NW & fF

at +4b +16ct =48 T ab+dbc+2ca=24
T o’ +b +c* HTAFE B

U : rer
L s wetien -G8 &2
WI935 n gven Tigure the measure  Of | 146, @1 T STty B 4B+ A4 /Dr Jir T
E—E}‘ﬂ' LA+ LB+ ZCH+ LD+ LE+ AT s ﬂ'ﬂ‘mfl A
e P : % ; :;En oS
e AR
< 360 ° ' s C E
LIS ET=NEE 4
147. If sin‘x+sin®x=1 then wvalue of 347. T® sin‘x+sinx=1 TE cos'x+cos’x
cos* x+cos’ x is e ifiatmed ::1-5'-:) &1 AT B
1. cos?x £ sin’x 1. cos”x 2. sin’x
3. tan’x 4. 1 3. tan"x 4. 1

148. If 1, 2, 3 are the roots of the equation

x*+ax’ +bx+c =0 then the value of c is

148,

e 1, 2, 3 TFIT xsaxi +hxte=0
@A B T c BTAME|

1. 18 2. 36 1. 18 2. 36
fﬂzuﬂﬂ 4, 32 3. 30 — 4. 32 L o
=0 =
xT%%' 1y a¥bie 55 1o g =
P o o=l - b
L ST e 5 %5\
¢ il Tt N i ‘:'lﬁﬁn"m
ool S + 3 = Page 24 of 32
40 R TR B T PR 1 11+1@
N e L e | il P -|'_' — '
e xl.“' 16 I
- ’ﬂ




= -
55 U -4
Eﬁm@# fbyyydﬂ*‘%fﬁ 59’ H?['.;.JI;.JH -fo
4 T X b *’ﬁﬂ‘
1 : 1 1 ;
i x= = . th lue of | 149. IF x=—F=,¥= Ha O+ @
149, If 115 ¥ 4+415 en value PENT ¥ 4:415 ¥y
- I A9 € | :
il | . 1 486 2 430 SANT
3. 488 4. 476

=

150, If the altitudes of triangle are 10cm, 12|:m
and 15cm then its semi perimeler is

160, UM% TP e @ @@ 10cm, 12cm, 15cm
2! T =Hal 3H TRAY 2 |

; 45 5 7 45 : 7
. —=cm . == &m N . — em
f7 J2 ﬁm 2 °
3 E-r:rt'l 4 E{:rn 3 -li—um 4 E]I-l::m
" V14 1 - J14 " W7
151. If 12 cot® @ - 31cosec & + 32 = 0 then value of 151 qfd 12cot? @~ Ilcosec@+32=0 8| 4
sin & Is el B =T 'k-,fl'fi =% sind T A B
e G 1.='!r~ "
"-” 5 2 -2 ,a;u-ﬂ qI[ﬂ . 2 :a':rr_I
1)/%'3[1 5 ? ar T .,:'I.-""""-u - "hﬂ-.-ﬂ.l.&-h 5“*1_,._ 3 3
G h“-'a'
-!h‘l
3. i or l . :I:i K .-'1"'1""'- 3. — 4 i 4. il
5§ 4 2 N > 4 2
152." Let ABCD be a rectangle and E and F be the| 152, AT ABCD T& aITad €, @l €D @ BC
points Ff{'ﬂig;}"d ?é? FEEPEE“{;:";}E“*}E ‘“3; fig £ oo F 36 wor e 2 s =,
area o = area =9 an i o, |
area (AABC) = 25. What is the area of triangle (AADE)=18, (ACEF) = 8 T=11 %‘-ﬂfﬁﬂ L?ﬂ‘.,-
AREF? (AABC) = 25. AAEF 1 &5l o 2" R,
1 28 5 30 1. 28 2. 30 y""
3. 32 § 36 3. 32 h 4. 36 | e
153. The edge of a cube is doubled then the! 153, 59 = U Eculcal SATAT el TR A &
percentage increase in the volume of cube is srae A wfewm ofE 2
i % 200k 1. 100% 7 2. 500%
3. 300% S 700% 3. 300% 4. 700% |
154, The radii of two cylinders are In the ratio 2.3 | 154, 81 aoi] @] (ol &1 23 ol
and their heights are in the ratio 5:3. The SAE) SeEngdl @1 U 53 2| 99D
ratio of their volumes is AT FT 2|
1. 10:17 A 2027 1. 10:17 2. 20:27
3. 1027 4. 20:37 3. 10:27 4, 20:37
155. A cone, a right circular cylinder and a| 155 U@ ¥id, Siiel oU do P HAER
hemisphere standing on equal base and have FHE 2 aur 9@ SEnsdr O g9 8|
height, The ratio of their volumes is D ATl @1 AU B |
T 4 1834 1, 1:2:3 210850
< A i, Bl 4. 2:1:3 3 234 4 2:1:3
156. A shopkeeper sold two bicycle for 315000 | 186, Udr g@IT&R &l Wigidell @ T15000
each, on first he gains 50% and on the other yE F OBEd W dum] 8| UEd
a loss of 25%. His profit or loss is AEfRPe U SH 50% T o T g
1.0 2. 162 IR 25% @ B BT &1 SHdHT aM &;
3. 126 4. 632 B 2 |
1.0 2. 162 [
3. 125 4. 632 I
5o Ig.-pa- Ty \ 6uS ) S0 : ‘|
et 9 5 v? 3y5°
o ‘{Ea L SR i T aus T Pagedaciad
A to ﬁ 1"’ W5 Ed 1%3% 3 r'[ Fox I|
-FIT f- 3+ - -—i‘ia.-q- -J':- % 1 1 - 1;41 e |
h*-L 1 ZatK. '%" b D B AT el

—_—




157. Average of 8 numbers is 20, that of the first | 157 § T3l T A 20 § WUH & 1 155

two is 15.5 and that of the next three is m%

the 6" is less than the 7" by 4 and 7 less
than the 8™ The last number is
5N 2. 28

3. 35 A 32

Hmm#ﬁﬂfﬂmﬂrzl%ﬂ—&rﬂm
mﬁﬁﬁatﬁenana}ﬁﬁ?ﬂ‘a“lﬂﬁ’ﬂ

e Bl —
4. 25 2. 2B
3, 35 4. 32

158. An equilaleral triangle has its side of 3V3cm, | 156. T9 WHAIE T[& @ qun @ wwng
then radius of its circum-circle is ’ 3 iem &t of 395 uiNgd @1 B8R
1. 3cm 2. dcm ":"ﬁ.$ 1. 3cm 2. 4cm
e 2
3. 23em 4, 2em 3 Af3sm 4. Do
2% 27x
158, If 3j— =1, then find the | 159. Ife : J J ‘/ =T S 5 57
J;? \/?29 JSEEE 1% yiEg 7126 729 2832 ¢
w.ilue of x, f %— X H‘Lﬂ. T S Y |
1. 8 -
;5 i e 2
160. When 10 is subtracted from each of the given | 150, afg weid afms ¥ ¥ 10 =T faar ww
observalion, the mean is reduced b',rﬁl]% If ol HRT 60% TF HT ol EJ oo
S is added to all the gwen observation, the S o
mEHﬂW‘I" bE [*‘q '5"':"-."-1-.—1“3 Tl":f ;H'ﬁf m ﬁ 5 Gﬂu_ﬁ' ﬁ'!‘:ﬂ' Eﬂ
1, 25 2. 30 HED BT |
3. 60 4. 65 1. 25 2. 30
3. 60 4, B85
161. Kheda Satyagrah was related to 161. ‘Wel YU g o) —

}# Against the oppressive plantation
system

2. Movemenl! of cotton mill workers

3. Relaxation in revenue collection

4. None of above

162,

1. TUAERI 47T R & R
2. FUGT FRE & AW BT AETTT

The first Iron and steel plant was set up in
India at

162.

163.

1. Bhilai 2. Kolkata

3. Chennai _A7 Jamshedpur
Architect of national unification of Prussia |
was

A7 Ofto Von Bismark 2. William |

3. Mazzini 4. Emmanuel Il

163.

164.

What do you mean by "Hind Swaraj"?
1. Political Party of Tilak

" Book of Mahatma Gandhi
3. Symbol of Indian National Congress
4, Political Party of Mahatma Gandhi

164.

165.

The first Historical novel written in Bengal
was

1. Chemmin 2. Anguriya Binimoy
3. Chomna Dudi 4. Anandmath

165.

a:mgﬁr 4, TS
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166. Gandhi-lrwin Pact was held in *166. TMET SXia THEal BaT
¥ 5™ March 1931 2. 6" Dec. 1931 1. & A" 1931 2. 6 fegmw 1931
¢ 3. 13" March 1931 4, 14" April 1931 1 13 °1E 1931 4. 14 30 1931
167. Tax lavied by the church comprising %%f 187, T€ BN U SG Bl %?ﬁ & HEAT
agricufture produce was ) | - .
1. Livre 2. taille
o 1. fod 2. el
_“Tithe 4. Suffrage . Erex 4 >
168. The writer of ‘Declaration of the Right of | 168, TEFeNIH % WESH HF THA US
women and citizen' is RitoT & aas 2 -
1. Olympe de Gouges 1. ater D & T
2 +Camille Desmoulins = o T SuHEE
3. Napolean Bonapart 31 e E A
4. Henry Mayhew 4 %q_‘ﬁ ﬁ%ﬂ
169. During the first world war Russia was ruled | 169, T fawg I + SN &9 5T IEE a7
by 1, R Ao 2. 9R A
4 Tsar Nicholas | 2. Tsar Nicholas Il 2 v EEE N 4 TR BAEET
3. Tsar Nicholas II| 4. Tsar Nicholas IV :
170. Which of the following were known as Axis | 170. fo=feilfag & 9 &9 Fi'{?{ wifeaar FEed
Powers. ] 2
1. UK & USA 1. fac oiv wgmm o=y R
2. USSR and UK 2. wifdaa ¥9 3R @
3. Germany, ltaly, Japan B
it el s 4. W), ST, T T SR
171. Who decided to partition Bengal in 1905 171. 1905 W &Gl (AATO @1 AV (e |
1. Lord Clive 2. Lord Bantik fema?
}(fnrd Curzon 4. Lord Rippen 1. oIS el 2. wie dfew
3. T8 FHa 4. w18 Ruq
172. Which crop takes almost a year to grow? 172. ®F U B GOR 8 H oW Uh ay
1. Cotton 27 Jute @1 WY o 87 '
3. Rice 4, Sugarcane 1. PUR 2. §g
L, T 3. Hiqd 4. I
173. Who proclaimed dams as the temple of [ 173, qMEl @7 AT ARG @& #AfaY (G @6l
Modern India? : aq7?
- Jawahar Lal Mehru ' T el
2. Mahatma Gandhi 1. WHEEY o 2. HeTH
3. Rabindra Nath Tagore 3. Wi T TR 4. GHW T AN
4. Subhash Chander Bose . B, AL, ey
174. On which river is Sardar Sarovar Dam built? | 174, Hvew S3Es 4% 59 78] W §91 &7
1. Tapi » 2, Narmada a9el
3. Kriehna 4. Kaver ;: i i s
175. Which soil type is made up of Lava Flows? 175. 19 41 e onar wad A O 791 27
1. Red Soil 2. Yellow Soil faed g
_# Black Soil 4. Laterite Soi i, g i
3, @il qal 4, olexIEe Ha
e = e l—*:-?-_:l'__'__ i =
T 40 5[ BT a3 Ax1¥3  EH.5B
,51-’."“3* 7 zr:rgrrig .o 92 g ":'_+Fﬂ_~tj 3
DR L i B P & +U 3 =1 | 2 3 = pagerrora
F ) E 'q ; FE ,;.3 tg o -EF "'IE
; = o 2
B wr. GHE




176. In which state 'Kalpakkam Nuclear Power | 176. 9 & (g o8 H @addod O9A]
Plant' is situated? Fal @9 B
1. Kerela 2. Karnataka :
| 1 %?F—l 2. HHlcH
3. Andhra Pradesh A4 Tamil Nadu | ~ 3
3, T WG 4, AMHATG
177. Maruti Udyog Limited is an example of which 177. HIA e [ebes 1 |5 9 &9 7or
Elyp-uj c_rf :ndue:tr',r? ‘= TENT H IEEI 27
. «OINT SeCior n. ]daﬁ?—ﬁ EE‘.I_I_
2. Public sector 1. Ellg..ﬂfl_ 2. ¥
& Private sector 3. el S 4, TEHN FTE
4. Co-operative seclor i 4 d
178. The coriolis force is caused due to 178. BISTT T91T &7 7] TR & 7
2 Earthrotaton LA AR 2 RSPl
4. Cyclonic depression 3, THhgE EEE 4. O dgHN
4, Jel stream
178. Width of two tracks of Broad gauge is: 179, ArETal (481 o1g+) DI qeRdl & 49 @
1. 0.610mis. “0.762mts Bty Wﬁg s
1. 08610 2. 0.762
3. 1.000mts 4. 1676mits
3. 1.000 HieX 4. 1672 X
180. Which one of the following causes rainfall | 180, 9N EF:‘ TEe-1EEAT "9 7 9 £ |
dur:ing winter in N.W. ﬂaﬂs of India? a‘q’i EB‘ T HEOT %'F
1. Cyclonic depression
2. Retreating monsoons 1. HHaRil HAHIT
_3-Western disturbances 2. e A
4. Soulh-\West monsoon 3. uftgAr faemw
' 4. TiEwr — UiEEH AN
181. Roof top rain water harvesting is the most | 181, f59 =9 W o9 99 HUsT A&
comman practice in: T 27
1. Shillong 2. Guwahati
3. Imphal 4. Patna 1. R 2. TAER]
3. FHhTd 4, Yl
182, S.T.P. is the abbreviation of - 182. 5.T.p. [T wHierT w97 & :
1. System Tech Park 1. fireg 29 U
2. Software Technology Park ”
,a/gtate Thermal Plant 2. WTERR Coreall o
4. Software Tech Picket 3. ¥€ gH WiC
0 4. Wweqy < fUae
183, 'FEDECOR is an organisation from : 183. ‘BeDN TS T TEH © ¢
e £ Ahekg . WNd W 2. IRPT
8 S sl 3w W s, avoha
184. Why was Inlemnational Monetary Fund | 184, aeisea HaT &8 @ WO T @
established? TE?
1. To maintain peace and security : :
2. Lends money to government of 1. ¥ ‘-"ﬂ;ﬁﬁg @ T @ fory
member nation when in need 2. HeHg EZG R S e
3. To implement trade agreements 37 & forg
7 To take decision regarding misery and 3. BIUR \EEidl ) dPL 99 @ forg
poverty of western countries 4 REE @ T 2 Y
Ao o & forg
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185. A persan who is not a member of parliament
is appointed as a minister he has lo get
elected to the houses of parliament within: |
1. A month
2. Threa month “ |
3. Six month

j/ Stipulated time fixed by the president

| ® 1. UH HEA A |

185, U@l dled W 6HE # Hewd T8 ©
dfehs 7= T TAT & 99 e weg Ao
HHe @ SEl dgq 7 oW fhar @ &
Hew 947 Tod £ |

2. A A6 H
3, W AEE H
4. zafa g o9 fhT 0 ' A

186. Finance Bill is intraduce only in
A Loksabha
2. Rajyasabha
3. District Council
4. Legislative Council

186. U o0 @ael Wil (hdl ol Gl &
1, e §
2. IFTEAT H
3. forem ufvsg #

4 foum uREE

| 187. By whom

187 the "Right to Conslitutional | 187. Thd® BT AL SUHR @ SHEHN
Remedies" was considered as the soul and ] W™ W 3T 3R geY Sl Tl
heart of Indian constitution? 27
1. Mahatma Gandhi 1. HEET Tt
2. Dr. Rajendra Prasad 5 M0 ST HETE

o 5. 4o SR S
4, TAEX A EW
188. The distinguish fealure of a federal | 188, HHIG WXHN & [AIEaT & —
government is : 1, S ENEN U U A9FR
_3~National government gives some i PR Eﬁ'—ﬁ 2
powers to the provincial government 2 .

2. Power is distributed among the o aifaren faenfies, ﬁlfll qTfeTa
legislature, executive and judiciary TOuifereT @ 4" g€ A €

3. Elected officials exercise supreme 1 freifog vsfEe™ & Svar o
power in the government wdt=a arFa TanT e

4. Governmental power is divided Py ! i 8
between different level of government 4. PR E”a_f' A B (A

WRI & 4= 9¢ Wi 8|

189. Following is a minority community in Belgium | 189, fA=ifeillgg ® | wfcoad @ aeaHes
1. Italian - speaking -_,.Zf'T:rench - speaking ks D Bl
3. Dutch - speaking 4. English - speaking . Eooil — Al 2. WE — WYl

3. B9 — 9 4. IO — AT

180. Who gives recognition to political parlies as | 190, ToHITTE Bl @1 IS Ball Jar &= |
Mational parties or regional parties? =i & AEgEr #9291 27
1. Parliament 1 w
2. President of India :

2" Election Commission of India 2. W HT AL
4. Prime Minister of India 3. O @ gAd ST
' 4, HNG & TEAEA!

191. The retirement age of the Supreme Court | 191, 1—|:4|E[ ~q1gTeld & Wa @ Har gfé‘rﬁ &
Judge is drar 2
1. 60 years _Z65 years f”ﬂﬁu o 2: se ok
3. 68 years 4. 70 years : : :

; ! 3. 68 UY 4 70T
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192, How many seats as reserved for women '192. TNA W TEEG A 3 d=ta Sival &

under Panchayati Raj Election in India forn forae e Hfe 2
: _,f% seals 4, /l/é’seats a %#ﬁ. 4 1/1{ =
193. What is the procedure that transfers some of 193. 39 Ulhar & w7 Fed 2 ey 92 a7
mtihpn;urer? of the u:ant;e nlr; sé?}te government T EER B 5B - c
to the local government calle
1. Power sharing 2~ Decentralization YR B S & Wl §
3. Centralization 4. Democracy 1. 90 @ WEER 2. fRdte
3. TR 4. dldho4 -
194. Which of the following is considered as a | 104, =loiEg & U HE aEhas amEnes
component of social infrastructure., WYE H Hed 27
J= Transport 2! Education 1. e 2. B
3. Communication 4. Energy 3' s 4' 'f
195. The revenue and expenditure policy of [ 195 VR @ Y 3N @49 o HSaed i
govermnmment Is called T Eﬁﬂ'{fﬁ' %’?
1. Monetary Policy s Hf o
=27 Economic Policy L . Ay
3. Fiscal Policy _ 3. o g 4. @2 @mow A

4. Foreign Trade Policy ; g :
186. In Which five year plan, Mahalanobis Model | 196. %Teaq & Hglo=rara Hied &9 gaadig

was adopted in India AT § AU T &7

1. Fifth /Virs: i e 2

3. Second " Third ' . HUH
3. fedm 4

| 197. Which treaty provided for a common currency | 197, IR Wg @ o I Uw Hedl e |
for member countries of European

community THE @ =g e gg?

1. Brussels Treaty

2. Geneva Convention 3 gﬂﬁ‘ﬂ wagiler 2. o gl

&7 Traaty of Versailles

4. Maastricht Treaty 3, TW WSl 4. wifgwe wsir
196. Which bank first introduced credit card in | 198, #v § Mo IS B YoaTd e o T

India 21

1. Central Bank of India : g

__2-Slate Bank of India 1. g ﬁ'ﬂiﬁ;ﬁﬁ ghedT
3. ICICI Bank 2. WA CED
4, HDFC Bank 3. Icic §%
4. HDFC & .

199. The Chhota Nagpur Plateau famous for its | 199, @l & fow ToE ©ial AT Y8R

mineral deposits is in which state e wog § Ram &2

1. Uttar Pradesh 4 Jharkhand 1 gEvT TR 2 TGS

3. Madhya Pradesh 4. Orissa ' '

3. Hequoy 4. TSl

'200. What'is the name given fo an economy which | 200, UH] afegavel fora®r 39 fieg @ FE

:las;: nuﬂlrlelﬂnEn cﬁgkm rest of the world 4T T B I AT TP

. Capitalis nomy :

2. Mixed Economy 1. qifarel sreferawen

3. Socialist Economy 2. TafEm apferawen
- A Closed Economy 3. waTerare] ayeferaven

4. ¥y afegave
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